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1. In the given parallelogram, which of the following statements are true?

a) Fis the mid point of BD
b) CF=FD

c) AFEB=AFCD

d) EB| CD

e) CF=FB

B C

(i) {b,a} (ii) {b,a,c} (i) {a,c,d} (iv) {b,e,d} (v) {ec}

2. In parallelogram GHIJ, diagonals HJ and Gl intersect atK. Then GH ||
] |

G H

(iy H) (i) JG (i) HI (iv) U (v) Gl

3. In parallelogram EFGH , diagonals FH and EG intersect atl. Then GH ||
H G

E F

(iy HE (i) FH (i) FG (iv) EF (v) EG



4. In parallelogram MNOP, diagonals NP and MO intersect atQ. Then PM ||
P 9]

X

=

N

(i) MO (i) MN (i) NP (iv) NO (v) OP

5. In parallelogram DEFG, diagonals EG and DF intersect atH. Then EF ||
G F

\

g

E

(i) GD (i) DE (iii) FG (iv) EG (v) DF

6. In parallelogramNOPQ, diagonals OQ and NP intersect atR. ThenNO =
Q P

%

N 8]

—

i) OP (ii) PQ (iii)) NP (iv) OQ (v) QN

7. In parallelogram MNOP, diagonals NP and MO intersect atQ. ThenOP =
P O

N

=

N

(i) MO (ii) NP (iii)) PM (iv) MN (v) NO



8. In parallelogram LMNO, diagonals MO and LN intersect atP. ThenOL =
0 N
L M

(i) NO (ii) LN (iii) LM (iv) MN (v) MO

9. In parallelogram OPQR, diagonals PR and OQ intersect atS. ThenPQ =

R Q
%
o] P

(i) OP (ii) PR (iii)) QR (iv) RO (v) OQ

10. In parallelogram OPQR,diagonals PR and OQ intersect atS. Then AROP =

R Q
%
O P

(i) AQRO (ii) APQR (iii) AQRS (iv) AOPQ (v) AOPS

11. In parallelogramHIJK, diagonals IKand HJ intersect atL. ThenAlJK =
%
H I

(i) AHU (i) AKHI (i) AJKH (iv) AJKL (v) AHIL



12. In parallelogram CDEF, diagonals DF and CE intersect atG. Then AEFC =
F E

C D

(i) AFCD (ii) ACDG (iii) ADEF (iv) AEFG (v) ACDE

13. In parallelogram NOPQ, diagonals OQ and NP intersect atR. Then ANOP =
Q P

N o

(i) AOPQ (ii) AQNO (iii)) APQN (iv) APQR (v) ANOR

14. In parallelogram FGHI, diagonals Gl and FH intersect at). Then ZIFG =
! H

F G

(i) £HIF (i) £FGJ (iii) £FGH (iv) ZHI) (v) 4GHI

15. In parallelogram NOPQ, diagonals OQ and NP intersect atR. Then LOPQ =
Q P

N 0

(i) £PQN (ii) £PQR (iii) £QNO (iv) 4ZNOR (v) 4NOP

16. In parallelogramHIJK, diagonals IK and HJ intersect atL. Then ZHI) =
K |

H !

(i) £LKHI (i) £ZHIL (iii)) £)JKL (iv) ZI)K (v) ZJKH



17. In parallelogram LMNO, diagonals MO and LN intersect atP. Then ZNOL =
O N

L M

(i) £LLMP (ii) £MNO (iii) £ZLMN (iv) £ZNOP (v) 4OLM

18. In parallelogramKLMN, diagonals LN and KM intersect atO. ThenMO =
N M

K L

(i) NO (ii) LM (iii) LO (iv) KO (v) NK

19. In parallelogramABCD, diagonals BD and AC intersect atE. ThenAE =
D C

A B

(i) BC (ii) BE (iii) CE (iv) DE (v) DA

20. In parallelogram CDEF, diagonals DF and CE intersect atG. ThenFG =
F E

C D

(i) DG (ii) CG (iii) DE (iv) EG (v) FC



21. In parallelogram ABCD, diagonals BD and AC intersect atE. ThenBE =
D C

1

A B

(i) DA (ii) BC (iii) AE (iv) DE (v) CE

22. In rhombus]KLM, diagonals JL and KM intersect atN. Then JK ||
M L

K

[—

(i) KM (i) KL (i) MJ (iv) LM

23. In rhombusPQRS, diagonals PR and QS intersect atT. Then RS ||
5 R

X

)

Q
(i) QS (i) QR (i) PQ (iv) SP

24. In rhombusOPQR, diagonals OQ and PR intersect atS. Then RO ||
R Q

X

O P

(i) PQ (ii) OP (iii)) QR (iv) PR



25. In rhombusPQRS, diagonals PR and QS intersect atT. Then QR ||

\

o

Q

(i) SP (i) PQ (iii) QS (iv) RS

26. In rhombusEFGH, diagonals'EG and FH intersect atl. ThenEF #
H G

X

m

F

(i) GH (ii) FH (iii) FG (iv) HE

27. In rhombusGHIJ, diagonals Gl and HJ intersect atK. Thenl) =
] |

X

)]

H

(i) JG (i) H) (iii)) HI (iv) GH

28. In rhombusDEFG, diagonals DF and EG intersect atH. ThenGD =
G F

X

g

E

(i) EF (ii) FG (iii) EG (iv) DE



29. In rhombusKLMN, diagonals KM and LN intersect atO. ThenLM =
N M

X

-~

L

(i) KL (ii) LN (iii) MN (iv) NK

30. In rhombusLMNO, diagonals LN and MO intersect atP. Then AOLM =
o] N

X

—

M

(i) ALMN (ii) APLM (iii) AMNO (iv) ANOL

31. In rhombusABCD, diagonals AC and BD intersect atE. Then ABCD =
C

v

X

A B

(i) ADAB (ii) AEAB (iii) ACDA (iv) AABC

32. In rhombusHIJK, diagonals H] and IK intersect atL. Then AJKH =
K J

X

T

(i) AHI (i) ALHI (i) AlJK (iv) AKHI

33. In rhombusLMNO, diagonals LN and MO intersect atP. Then ALMN =
0] N

X

-

M

(i) AOLM (ii) ANOL (iii) AMNO (iv) APLM



34. In rhombusNOPQ, diagonals NP and OQ intersect atR. Then ARNO &
Q P

X

=

O

(i) AQNO (ii) ARPO (iii) ARPQ (iv) ARNQ

35. In rhombusFGHI, diagonals FH and Gl intersect at). Then AJHG 2
! H

X

M

G

(i) AIFG (i) AJHI (iii) AJFI (iv) AJFG

36. In rhombusIJKL, diagonals IK and JL intersect atM. Then AMKL 2

—

K

X

J

(i) AMIL (i) AMKJ (i) ALl (iv) AMI)

37. In rhombusDEFG, diagonals DF and EG intersect atH. Then AHDG &
G F

X

)

E

(i) AGDE (ii) AHDE (iii)) AHFG (iv) AHFE

38. In rhombusFGHI, diagonals FH and Gl intersect at). Then ZIFG=

i

F G

(i) £GHI (ii) 4FGJ (iii) £HIF (iv) 4ZFGH



39. In rhombusLMNO, diagonals LN and MO intersect atP. Then ZMNO =

o
=

X

L M

(i) £LLMN (ii) £ZLMP (iii)) £OLM (iv) 4NOL

40. In rhombusABCD, diagonals AC and BD intersect atE. Then LZABC=
D 5

X

A B

(i) £DAB (ii) £LABE (iii) £4CDA (iv) £4BCD

41. In rhombuslJKL, diagonals IK and JL intersect atM. Then ZKLI=

-
=
-~

(i) ZJKL (i) ZUM (iii) ZLy (iv) ZIK

42. In rhombusGHIJ, diagonals Gl and H] intersect atK. Then ZHKG =
J |

X

[n]

H

(i) £IKH (i) Z£JKI (iii) £GKJ (iv) £JGH



43. In rhombus MNOP, diagonals MO and NP intersect atQ. Then ZPQO =
P O

X

=

N

(i) £PMN (ii) £MQP (iii)) £OQN (iv) 4ZNQM

44. In rhombusGHIJ, diagonals Gl and HJ intersect atK. Then ZGK] =
] |

X

@

H

(i) £LHKG (ii) Z)JGH (iii) £IKH (iv) ZJKI

45. In rhombusFGHI, diagonals FH and Gl intersect at). Then LH)JG =

-
I
(0]

(i) £GJF (ii) LFJ (iii) £ZIFG (iv) ZIJH

46. In rhombusPQRS, diagonals PR and QS intersect atT. Then LTPQ#
5 R

o

Q
(i) £PTS (ii) £QRT (iii) 4SPT (iv) £LTRS



47. In rhombusDEFG, diagonals DF and EG intersect atH. Then ZHFG =
G

-

X

g

E

(i) £GDH (ii) £DHG (iii)) £EFH (iv) £HDE

48. In rhombus CDEF, diagonals CE and DF intersect atG. Then £LFCG =
F E

X

M

D

(i) £GCD (ii) £4GEF (iii) £CGF (iv) £LDEG

49. In rhombusLMNO, diagonals LN and MO intersect atP. Then ZMNP =
o N

X

—

M

(i) £PNO (ii) £OLP (iii)) £PLM (iv) Z£LPO

50. In rhombusJKLM, diagonals JL and KM intersect atN. Then ZNM) =
M L

X

—

(i) £LLMN (ii) £MNL (iii) ZJKN (iv) £ZNKL



51. In rhombusGHIJ, diagonals Gl and HJ intersect atK. Then ZKHI =
J |

G H

(i) ZKIG (i) ZIK (i) ZJKI (iv) ZGHK

52. In rhombusABCD, diagonals AC and BD intersect atE. Then ZABE #
D C

A B

(i) £LEBC (ii) 4CDE (iii) £4DEC (iv) ZEDA

53. In rhombusFGHI, diagonals FH and Gl intersect at). Then £ZHI) #
| H

M

G

(i) ZJIF (i) £JGH (iii) ZIJH (iv) ZFG)

54. In rhombusLMNO, diagonals LN and MO intersect atP. ThenOP =
8] N

L M

(i) NP (ii) OL (iii)) MP (iv) LP



55. In rhombusKLMN, diagonals KM and LN intersect atO. ThenLO =
M

=

X

-~

L

(i) KO (ii) MO (iii)) NK (iv) NO

56. In rhombus MNOP, diagonals MO and NP intersect atQ. ThenMQ =
P 0O

X

=

N

(i) O0Q (ii) PQ (iii) PM (iv) NQ

57. In rhombusFGHI, diagonals FH and Gl intersect at). ThenH) =
| H

]

-n

(i) FJ (i) IF (ii) 1 (iv) G

58. In trapezium DEFG, DF and EG are diagonals. Then DE ||
G F

)

)
m

iy DF (i) GD (iii) EG (iv) FG (v) EF

—

59. In trapeziumJKLM, JL and KM are diagonals. Then LM ||

=
=
=

—

(i) M) (i) KL (iii) JL (iv) JK (v) KM



60. In kiteBCDE, BD and CE are diagonals. ThenBC=
D

B

(i) BD (ii) EB (iii)) DE (iv) CE (v) CD

61. In kiteGHIJ, Gl and HJ are diagonals. Then)G =
I

G

(i) 1 (i) GH (iii) H) (iv) HI (v) GI

62. In kiteHIJK, HJ and IK are diagonals. Thenl) =
J

H

(i) 1K (i) HI (iii) JK (iv) KH (v) H)



63. In kitelJKL, IK and JL are diagonals. ThenKL=
K

() LI (i) 1K (i) JL (v) JK (v) 1)

64. In kite CDEF, CE and DF are diagonals. Then ZCDE =
E

C

(i) £CGD (ii) £CGF (iii)) £CFD (iv) 4ZEFC (v) LEFD

65. In kiteNOPQ, NP and OQ are diagonals. Then ZPQN =
P

N

(i) £LNOP (ii) £ZNRQ (iii) £NQO (iv) £ZNRO (v) 4PQO

66. In kitelJKL, IK and JL are diagonals. Then ZIML=
K

(i) £IM) (i) £KLU (i) ZKLl (iv) ZIJK (v) ZIY



67. In kiteFGHI, FH and Gl are diagonals. Then £LF)G=
H

F

(i) £LFJI (i) £FIG (iii) £ZHIG (iv) ZHIF (v) ZFGH

68. In kiteHlJK, HJ and IK are diagonals. Then AJKH=
J

H

(i) AU (i) AKI (iii) ALKH (iv) AJIH (v) AKIH

69. In kite HIJK, HJ and IK are diagonals. Then AJIH=
J

H

(i) ALKH (i) AJKH (iii) AKIH (iv) ALI (v) AKI



70. In kiteFGHI, FH and Gl are diagonals. Then pAJIF =
H

F

(i) AIGH (i) AIGF (iii) AJHI (iv) AJHG (v) AJGF

71. In kiteHlJK, HJ and IK are diagonals. Then ALIH=
J

H

(i) ALK (i) ALKH (iii) AKJ (iv) AL (v) AKIH

72. In kiteBCDE, BD and CE are diagonals. Then AFDE =
D

B

(i) AECD (ii) AECB (iii) AFCB (iv) AFDC (v) AFEB



73. In kiteEFGH, EG and FH are diagonals. Then AIGF =
G

E

(i) AHFE (ii) AIGH (iii) AIFE (iv) AIHE (v) AHFG

74. In kiteOPQR, OQ and PR are diagonals. Then ZROS =
Q

o

(i) £SQR (ii) £RSQ (iii) 4£SQP (iv) £ZOSR (v) 4POS

75. In kiteKLMN, KM and LN are diagonals. Then ZLKO =
M

K

(i) £LKON (ii) £NKO (iii)) £ZOML (iv) £ZOMN (v) 4NOM



76. In kiteOPQR, OQ and PR are diagonals. Then £LSQR =
Q

O

(i) £OSR (ii) £RSQ (iii) £POS (iv) £ZROS (v) £4SQP

77. In kiteKLMN, KM and LN are diagonals. Then ZOML =
M

(i) £LKO (ii) £KON (iii)) £ZNKO (iv) £ZOMN (v) 4NOM

78. Which of the following figures is a regular quadrilateral?
O N

P O

Q P R Q

L M M N N (0] 0] P P
sguare rectangle rhombus parallelogram trapezium

(i) parallelogram (ii) square (iii) trapezium (iv) rhombus (v) rectangle



Assignment Key

1) (iii) 2) (iv) 3) (iv) 4) (iv) 5) (i) 6) (ii)

7) (iv) 8) (iv) 9) (iv) 10) (ii) 11) (ii) 12) (v)
13) (iii) 14) (v) 15) (iii) 16) (v) 17) (iii) 18) (iv)
19) (iii) 20) (i) 21) (iv) 22) (iv) 23) (iii) 24) (i)

25) (i) 26) (ii) 27) (ii) 28) (iii) 29) (ii) 30) (iii)
31) (i) 32) (i) 33) (ii) 34) (i) 35) (i) 36) (iii)
37) (i) 38) (i) 39) (iii) 40) (iii) 41) (iv) 42) (iv)
43) (i) 44) (ii) 45) (iii) 46) (i) 47) (ii) 48) (iii)
49) (iv) 50) (ii) 51) (iii) 52) (iii) 53) (iii) 54) (iii)
55) (iv) 56) (i) 57) (i) 58) (iv) 59) (iv) 60) (ii)
61) (ii) 62) (iii) 63) (iv) 64) (iv) 65) (i) 66) (i)

67) (i) 68) (iv) 69) (ii) 70) (v) 71) (ii) 72) (iv)
73) (i) 74) (v) 75) (ii) 76) (v) 77) (iv) 78) (ii)
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